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2.1 0OO0O0O0OO0O

m 00 0000 n00000n00000O0O0COOOQORTOOOO
R" = {(z1,...,2n) | 21,..., 2, € R}.
0000 R'=RO

R? = {(z1,23) | 21,20 € R} = {(z,y) |z, y OO DO }

R3 = {(z,y,2) |z, y, 2000 }
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0000000000030 f:R2-ROODOO0ODOO0OO000OO00

fo: R*3 (z,9) — f(z,y) = Vo> + 2 €R
00000000 £(0,00=0, fo(1,0) =1, fo(-1,-1)=v20000 ¢

M20150 60 190,/230 (20150 60 23000)

DO00: the number line; 0000 : the coordinate plane, the Cartesian plane; 0000 : the
coordinate space; 0 : a point.
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oooooOo0o0oobooo0oooooooooobboooooboooo3oo0og
00o0oOoobooOoOoOOODODOODOOODOOOOOOOOOOOOObOOO
ooo0 0000 ff:R*"DODD—-RO0O0O cO00O0O

{(:El,:vQ,...,xn,f(xl,...,:cn)) | (z1,...,2,) € D} c R
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ooo00 fOO0OODOO cOOOODOOOOOODDOOO

024 (1) RRODOOOOOO fi(z,y) =2*+y> 000 [0,400) O
00000 ce(0,400) 0000000 {(z,y)|fi(z,y) =c} O0xzy

Y000: the contour, the level curve, the level set.
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(a) 00000000 (b) foOOOOOODOD

021 024

00000D000000000 veDODOOODOODODO /000 ¢
0000000000000 00000000000000000
000000000000000000A 00000 2000000
000000000000000 2.1 (a)00

(2) R?00D0D000OD0O folw,y)=2>—y> 000 ROOOO cO00OO
000 {(z,y)|f2(z,y) =c} D02y 00000000c=00000
20000000000000000000000002.1(b)000
oooo &
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pDOOO0O0O0DD0OO0O0O0O0DOO0O0O0DDODO0O0O0O0OODOOO0fO R2O00D
0000000 00000000000000022000000000
gboboooboobooboboboobooboboboboooboooban
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0oO00000o0ooooooooon 90

50000: ascalar field. 1000000000000000
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goo0o0o0oo0oDoDOo0oDOOo0DobOoOoOoOoOoDOoOO

020 (20150724) 16

22 0O0OO0O0OOCOOO

m 100000000000 0OO0OJIcROOOOOOO1000O0 fO
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flath) - fa)
(21) fim =
00000000 f0 ¢« DO0OOCODOOOODODOODOOODOO (2.1)

O f0O aDDDDDDDDDDDDf’(a)DDD7)|:||]DD 1000000
o0 fO0000ODOOOCOOOOOOO
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00000000 fO00000D00O00 fOy=f(x)DD0O0ODODOOOO
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0000000 fO000 fUOOOO0OOOOOf 0000 f70f0
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(y=f(z)) D nOODOODO
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F @) =
Doooooog fO()=f(z) 000DOOODO
" 0000000000 0OO09DcR2000000 20000

f: D3 (x,y)— flz,y) €R

000000 (a,b) e DO0OODOODOOO

8.f T f(a+h7b)_f(a7b)
2c P = h |
8f s f(a7b+k>_f(a?b)
gy (@) = Jimy k

Doooo: differentiable; 000 0: the differential coefficient; OO O: the derivative; f’:
f-prime (00 dash OOODOOO).

82 0000: the second derivative; 3 00 0 O: the third derivative; n OO0 O: the n-th
derivative.

900 “00 (adomain)” 00000 3000000
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00000000000 f0 (e,b)000000O0OOOOOODO

of of
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00f0O (a,b) U000 20000 (yUOOO)OOOOOOOOO
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of of
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O pDO0O0OODODO 2000000000000 f0 000000000
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00000000000 ()oooooo
m JO00000 OO0 f(00 f(z,y) 00000000)0 20000
oobodOyOO0OO000000 x:000000D0C0O0O0 10000000
000000000000 f(z,y) 0 2,y 0000000000000

(2.2) f- 0 fz,y) 0 yOODODDOOODOOUOD 20000000000

(23)  f,0 f(z,y) 0 200000000 yODODOOOOOO

000000 f(z,y) 0000 fulz,y)0 f,(z,y)0 00000000200y
ooooooo0O0O0O0oO0

m 2000000 00 f(z,y) 00000 fo(z,y), fy(z,y) 000000
0000000400 20000

_f 9 of _f 9 of
fwx—@—%%, f”y_ayax_@%’
_f 9 of 9 of
o= Guy ~oxoy T a2 T oyay

Ypooooo: partially differentiable; * 00000000 : the partial derivative with respect
to x.
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000000D000000000 fO200000000 DO
0 2.6. 20000 f(z,y)=2>+32%y+¢y> 0000
fo(z,y) =32% + 62y, fy(x,y) = 32® + 2.
D00D00000000 2000000000
fze = 62 4 6y, fay = 6z, fye = 6, Syy = 2. &

0 2.7 00R200000 D={(z,y)z#0} 000000020000

f(z,y) = tan~ 2
X
00DOO0(1.8) 00000

e = g () = ey

Yy
l‘
1 d 1y 1
hen = rrgmray () = romr () = w i
go0oopooooggoooD 200000000o

—x2+y2
fa::r— fwy—fya:—m7

):—7?/
z2+y

2zy
(22 + 12)2’

f = —2zy
W@ 2
026,2700 f,y (x DO0OO0O0OO0OD0O0DOO00OO0 yOOOOOOOO)DO
fy» (yO0OOOOOOO :00000000)000000000000O0
oooooooooooon f, 0 f,.,0000000000000000
D0000®0o000000000000000200000000000
ooboooooosooooooo 290 f,y 0O f,, 00000000000

s 000000 200000000000O00O0O00O00300000
00000000oo00oooo 20000 f(f(x,y) 03000000

*f 0 0 of 3f 0 0 9f o3f 0 0 of

020y~ Oz dx Oy’ Oxdydxr Oz dy oz’ Oydx® Oy dr oz’

9o OOOO0: the second partial derivatives.
2)00000000000: the commutativity of partial differentials.
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f »Pf Bf »f

823 0x20y’  0xdy2’  OyP

0400000000000 00000DOO0OODOOOOOOD

m JO0000000O00 000 nOO0OO0O f(o1,...,2,) 00 400
Oi=1,...,n0000000000000000000000000 f£0 =4
ugbobooboobooboboboobooobobobobooooobann
gbobogobooboobooboooooooban

o2 f o2 f
= 1= <n).
6‘xk6xl axlal’k ( - k’l - n)

goood
gooooooooooooooboooooooooooboobooobobobooooooo
ooooooodooooboooooooobooooboobooooooboOogn

m JO000O0O0O 10000 w«(t)0D0O0O0ODOD20000 ...00000D0OO
00000 ¥ o000000000000on u(t) D0D0OD0O0DO0O0OOooo

0 28 00000 AQDU0OOOO0OOOOOOOOOD tO0D00O0O0O ADOO
0Ow«(t) 00000w() 0000000

(2.4) %:—Au (\0O0oDo)

00000o00oDoo0 koooa

(2.5) u(t) = ke
00000D0D000000000(24) 000 (25) 0000000 90 &

0 29. 000000000000000 mO00000000000000000
00000 x0000000000000000 ¢t0000000000 «(¢) 0000
0000000000000 000000000 —ks (k>0000000)00
000000000000 —p% (p>0000)000000000 ¢t000000

¥)gpgoo000an ordinary differential equation.

Yponoo (24) 000000 (25)000000000000000O0OODDOOOOOOOOOOOO
000000000000000000000000000

%)000000: Hooke’s Law; Hooke, Robert, (16351703, En).
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000 a(t) O
&’z dx
2.6 —_— — 4+ kzx=0
(2.6) M TP TR
goooooooooo x:x(t)DQDDDDDDDDDDDD 200000000
goooooooo (2.4)DDDDDDDD 1000000000000000000

gooooooooooboooooobooo &

m 000000 0OOOOOOOOOOOOOOO0O00000O0 *Y00000o0on
gooooooooooooooooo

D2.10(DDDDDDDDDDDDDDDDD).QDDDDu:u(x,y),3DDDD
w:w(:c,y,z)[][II:IDDDDDDDDDDDDDDDDDDDDDDD
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o o T Tap T o
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000000000000D0000 ADOODOOOO Y oo0o
000000000 Au=0 (Aw=0)(000000000000)000000
w(w)0DDDOD *®¥OooD0D0o0o0
00000000000000000000000000000000000000
0(0D)0000000000000000000000000000000000
00000D000000000 (000000000000)00000000000
000000000000000000000000000000000000000
0 Aw =p (p = p(z,y,2) 00 (z,y,2) 000000 (0D0)00)0000O0O0OO
000 Aw=p (p00000)00000000000000 Y0000 O

0 2.11 (00O0O0O0O0). OO000DDOO0O 200000000 ¢t0D00O0O0O0OO

OO0 0000000000 u(t,a))DDDDDuD
ou 9%u
2.7 — =Cc—
(2.7) ot Cc’)a:Q
godoooooooooa (1DDD)DDDD20)DDDDDDD cOO0OOO0OO0O
godoooooboooobooooboooono

(2.8) UOU’x)::g;%igexp<_T£;)

0 {(t,z)|t>0} cR?000000 (2.7) 00000000 210000000000
(2.7)00000000000000 BOOODOOOOOOOOO0D t0000000

) pgpooOO0da partial differential equation.

00000000 the Laplacian; 00000 Laplace, Pierre-Simon (1749-1827, F)O
¥)00000a harmonic function.

1900000000 the Poisson equaiton; 0 OO0 O Poisson, Siméon Denis (1781-1840, F).
20000000 the heat equation.
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uo(0.0S,%) uo(o.l,é) u0(0.15,;) u0(042,¥) u0(0.25,£)
T T
u0(0.3, x) u0(0.35, z) u0(0.4, ) u0(0.45, x) u0 (0.5, )

022 00000000 (c=1)

M
u(0.01, x) u(0.02, ) 1(0.03, z) u(0.04, ) u(0.05, )
u(0.06, x) u(0.07, x) u(0.08, z) 1(0.09, ) «(0.10, )

023 000000 (29) (c=1)

O uo(t,z) 000 0000 2¢t (0000 v2¢t) DO0DDOO0O0O0ODODODDOOOOOOO

[e'e] oo 1 .’EQ
uo(t, o dx:/ ———ex (——) dr =1
[oo olt,) oo 2V/Tct P 4ct
00000 2000 +0 0000000
0 (z#0)

li =
talrilo uo(t, x) {oo (z =0)

00¢t=00000000000¢>00000000000000 (0 220000

0o
1 (-i<z<d
f(x)—{ asrsy)
0 (lz| > 3)
0ooo
(29) u(t.) = [ wnto =) f()dy
0000 wut,z) O (27) 000000000¢t—00000 “00” fO0000 22
(0 2.3)0 &

2)goooo00000DD 70000000
22)«gp”» 00000000000
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0 2,12 (0000000DOOO0). D00DOO0O0OO0O0OO0DODODOOODOOO
0000000 ¢t+000000000000000 »(t,z) DODODDODDODODOOO
o0 «0O

82'LL 2 82U

00000000 ¢00000D0OOO0O0ODDOOOODDOOOOOOOODOOOO
02 0000000000ooooo

u(t,z) = F(z + ct) + G(z — ct)

00000000 F,GO (0000000000)10000000 (00 2-11)290
00000000000000000000000 ux=c?Aw00000000
000000000000 (00000000000)0000000000000 ¢

2-1 0000000

(1) 00 ICRODOOOOOOOD fO0000000000000000
(2) 00 DCR?’000000000 fO0000000000000000
2-2 (1) 0D0O0OOO0O0020000030000...0000000000000
ooooo
(2) 000000000000 D0000000O0D000000000000

30000,40000 ...000000000000000O
gooooooooobooooooooooooooooooo

2-3 021000 fO0O00O0OO0DOOOOOODODOO 1,2,3...0000000
oooo

2-4 02400000000

2-5 10000 FOOOOOSf(z,y)=F(/22+%?) 00020000 f000
ooo
(1) f0000D000D000O0DOOO0
(2) f0000D000D000O0DOOO0

23)0 00000 the wave equation.
2)QpQo0000000000000000000000000000000000
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2-6

2-7

2-8

2-9

2-10
2-11

2-12

2-13

20000

2y
f(:c,y): 22 + 92 (( 7y)7é(0,0)DDEI )

0 ((z,y) =(0,00000)

gooo
(1) 0ODOOOO0OOD:
o F(0,0), F(L,1), £(1,2), £(1,3).
o F(2.4), £(3,6), F(4,8).
e f(a,ma) (mOO00,a0 000000).
(2) f00000D000O0OC
(3 fO00DD0O0OODOODOUOODO
000 nOD00O0ODO 2000000D000C0O0O00O0O0O0OOODODOOOOO

goboobooooocooooooooooooOobOoOoOoOOoOoODObOOOoDoboO
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oo n0OO0O0O0O0 mOOOOOOOOOOCOOOOOOODOOOODOOO
gobooooooboooooobooooooooooooOoooboOooood
goooo
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@ =) (2o
flz,y) = 22 + 42 ((z,y) # (0,0))

0 ((z,y) = (0,0))
020000000000000002000000000000

0 (28)00000 (27)00000000000000
00

u(t,z) = asin(z + qt) + bsin(z — qt) (a,b,q00ODO)

000000 (210) 00000000 e, b, gO00O0O0O0ODOOO
oboz2000000000000C00CCOODOOOO

f(z,y) =log /x2 + 42, M%y%:mﬂﬁg'

ObbOz,y03000000000000000O0OC0OCOOOOOOOOO
10000 F)OOOoOo

flx,y,2) = F(v/2? + y?2 + 2?)

00oo0o0oo0oooo 30000 fOo000O0O0O00O0O0 FOOOOOOO
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2-14 20000 f(r,y) 00ODOOODO

o (& o (& _
ax<m>+ay<m> "

ooooooooo fDDDDDDDDDDDDDDDDDD25)DDI:IDEI (o
0000000O000O00D)0000O00DO00DO00ODO0OODODOODODOO

fla,y) =log(Va? +y2 + Va2 +y2 — 1),

COS T
g(z,y) =log —,
cosy

1Y
h(z =tan ' Z.
(z,9) -

2-15 (1) 0000000 € =cosf+ising (i 00000)0000 (000D
000) 00000000 z=z+iwy (z,yOOD)O0DOO
e® ="t = ¢%(cosy + isiny)

000000000, e* 000 Ree* 00000 Ime* O (z,y) OO0
goobooobooboobooog

(2) 000 z=2z4+4y 0000 f(2)=2"(mO000D0)0000ORef(2)
(Im f(z)) 0 (z,y) 000000000000000000 (z,y) 000
00000000 m=2,3,400000000000000 mO00O
ooo

25)0000: a minimal surface.



